FH T DERK

1 AOD§EHR

ANAESIYREEE
ABFN60£E(19854F)

L2

=

SF34E (20214F)

85R% 1L

80 ~ 84

75 ~ 79

70 ~ 74

65 ~ 69

60 ~ 64

55 ~ 59

50 ~ 54

45 ~ 49

40 ~ 44

35 ~ 39

30 ~ 34

25 ~ 29

20 ~ 24

15 ~ 19

ELUT 5 AR 0 BGE (R I X6 04T 7 v A A &)
LI

IT=EHR

W
S

AN

NN
RN
A
AN

S
R

%

%

%

%

a

)

N
L
RN

x

%

27

SH3E Bf A
i B | &
ANOZ 135,470 66,296 | 69,174
65 EAD 37282 | 16,605 20677
- o 275 25.0 29.9 =
(REALIL %) o5l o741l 335
L 60,017 [806,290]
—EE A 2.26 [2.13] g L
[ RIE=ER — /
: %% S:
e s v L ] §3 N
A OB AE(S FI34E )R T 4 BT A _5 % \
it I ESE A \
EET 843 443 400 % \
EEH 1,469 769 700 s \
HAEE(AOTH) 6.22 [6.40] I~ \
FECEAOFH) 10.84 [12.61] E % \
[INE=2 &8 (N ¥
SRS BAODHE _ B A
ER22%F | FER27TE | §F0125F | SF13F
(20104F) | (2015%F) | (2020%) | (20214F)
0~ 1455 20,392 | 19.309 | 17.826 | 17.456 :
15~ 645 88.084 | 84198 | 81466 | 80.732 MO~ BIS~O4E  m6oRALE
6585 L1 |E 29,981 34590 | 37,083 | 37.282
2 ZCDRKI
FEEEETR AD105 % 40i% ~64RICHITHEFHERETE
SEER B4 M AO1055%
. 140.0 76.0 =T HE =T
C::
B EY [143.0] [77.0] EXXd 142.1 187.0 97.2
N & = 21.6 259 —548 157.4 198.8 115.9
- [62.?] [32.3]
W/ 32 1 54 IﬂﬁSEF&ﬁO)T%
=P S
i 2R R [3%2] [1 ?.g]
P . . AL
; - - B =TE
iR & 7ol [31] EEE 0 52 7
" , 4.2 2.0 AD107 3 . 18.1 11.6
w R [5.3] [2.5] =ER [ 1413 970 43
= 1.2 1.8 A 105 % 15.9 22.3 9.7
& [2.1] [1.6] ] ]
BT S D B E



ESEETY

R Y

160 140 120 100 80 60 40

20 0

F_LE§§§§§§S

Y

10 8 6 4

FMPBETROFERHEB

160

140 %‘*—H—

120

100

80

:g > e o e — Y+
0 L
H29 H30 RO1 RO2 RO3

12

10

o N B~ O ©

S L L LU uH A Y

(% %)

D & A
b fn B 2B
4

00

0 20 0 60
XBEEH m—|

80 1
2 = DD

%

- apem o [ R

& m
2 0 0
Bt i 100
——EH | 80
e

60

40

20

0

—— R

===« [FRE

- o HEFRIE

— - BME

6
5
4
3
2
1
0

I ZEZT I
= XE B
29~ R03

FoE

=ERDRAEH100

HE: A ADataBoxI AO-HEDHZT | (HRFEI0H1BIRE)

BEFEVMAR

FEISA

EEHZBET NOBERERST—4]

BHBETEREARSIRICEOCAD, AOBEBRUHERIIREIA1A)

E: SMRIZERALE-AORURTCHIILZELXZSOSEMDEET
# Z DataBox AO-HEDFHE IO AO

— it A=

BHEAMEREXRBIRICEICAR, AOBBRUHTHIOHTE

2




